
MATHS

BOOKS - JEEVITH PUBLICATIONS MATHS

(KANNADA ENGLISH)

MOCK QUESTION PAPER -4

Part A

1. Given that the number of subsets of a set . A is 16. Find th

number of elements in A.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_FxFdywq2rSPr
https://dl.doubtnut.com/l/_sqSAXgNm6YDS


2. If (x - 1, y + 3 ) = (2, x + 4 ) Find the values of x and y .

Watch Video Solution

3. Convert  into degrees.

Watch Video Solution

( )
e

7π

6

4. Find the multiplicative inverse of 

Watch Video Solution

√5 + 3i

5. Find 20th term of G.P. 

Watch Video Solution

, , − − − − − .
5

2

5

4

5

8

https://dl.doubtnut.com/l/_sqSAXgNm6YDS
https://dl.doubtnut.com/l/_vWXHdV9cIoOi
https://dl.doubtnut.com/l/_pxhUhKJtkrrO
https://dl.doubtnut.com/l/_I8gg2lsI0Dpj


6. Find 'n' if  ?

Watch Video Solution

nC + (9) = nC + (8)

7. Find the slope of the line 

Watch Video Solution

x − y + 2 = 0

8. Write the negation of the statement "  is rational".

Watch Video Solution

√7

9. Evaluate : .lim
x→ 0

[ ]
(x + 1)5 − 1

x

https://dl.doubtnut.com/l/_I8gg2lsI0Dpj
https://dl.doubtnut.com/l/_GMBJYkDyyldL
https://dl.doubtnut.com/l/_EhvjSzE3mTuL
https://dl.doubtnut.com/l/_je2wU0gLzpEn
https://dl.doubtnut.com/l/_two03pZO1gvE


Part B

Watch Video Solution

10. A letter is chosen at random from the word

"ASSASSINATION" . Find the probability that letter is vowel.

Watch Video Solution

1. If X and Y are two sets such that X  has 18 elements,

X has 8 elements and Y has 15 elements how many

elements does X  have ?

Watch Video Solution

∪ Y

∩ Y

https://dl.doubtnut.com/l/_two03pZO1gvE
https://dl.doubtnut.com/l/_Rf0WUjRG4iOr
https://dl.doubtnut.com/l/_L9mgryqlAjtJ
https://dl.doubtnut.com/l/_7vyhWeJAUsjc


2. If A={-1,1}, find .

Watch Video Solution

A × A × A

3. Let  find (i) (f + g) x (ii) (fg) x

Watch Video Solution

f(x) = √x and g(x) = x

4. The minute hand of a clock is 2.1cm long. How far does its

tip move is 20 minute. 

Watch Video Solution

(useπ = )
22

7

5. Find the general solutions of 2 cos2 x − 3 sinx = 0

https://dl.doubtnut.com/l/_7vyhWeJAUsjc
https://dl.doubtnut.com/l/_3d5EWbTfllYG
https://dl.doubtnut.com/l/_zVI6iEGL6nMo
https://dl.doubtnut.com/l/_RRhOWXSrMVZF


Watch Video Solution

6. Evaluate : 

Watch Video Solution

lim
x→ 1

x15 − 1

x10 − 1

7. Find the mean deviation about the median for the

following data 

3, 9, 5, 3, 12, 10, 18, 4, 7, 19, 21.

Watch Video Solution

8. Write the inverse , converse of 'If a parallelogram is a

square , then it is a rhombus.

https://dl.doubtnut.com/l/_RRhOWXSrMVZF
https://dl.doubtnut.com/l/_qeeviesWxNZZ
https://dl.doubtnut.com/l/_h99B4jw6Atva
https://dl.doubtnut.com/l/_FWyEYNrJb0kC


Watch Video Solution

9. On her vacations Veena visits cities A,B C and D in

random order . What is the probability that she visits A

before B ?

Watch Video Solution

10. In a triangle ABC with vertices

 . Find the length of the

altitude from the vertex A .

Watch Video Solution

A(2, 3), B(4, − 1) and C(1, 2)

https://dl.doubtnut.com/l/_FWyEYNrJb0kC
https://dl.doubtnut.com/l/_zAxbi42ppl0C
https://dl.doubtnut.com/l/_5UYNhEBFxGXV


11. Find the distance between

Watch Video Solution

3x + 4y + 5 = 0 and 6x + 8y + 2 = 0

12. Solve 

Watch Video Solution

4x + 3 < 6x + 7

13. Show that the points P(- 2 , 3, 5) , Q (1, 2, 3) and R(7, 0, -1)

are collinear.

Watch Video Solution

https://dl.doubtnut.com/l/_fTg1C8bcgdNS
https://dl.doubtnut.com/l/_ItI45ql9Fy8N
https://dl.doubtnut.com/l/_M7ZIfMLfSxwl


Part C

14. Express  in polar form

Watch Video Solution

1 + i√3

1. In a survey of 600 students in a school, 150 students were

found to be taking tea and 225 taking coffee, 100 were

taking both tea and coffee. Find how many students were

taking neither tea nor coffee ?

Watch Video Solution

https://dl.doubtnut.com/l/_ItwCPV5SCvbO
https://dl.doubtnut.com/l/_q6Lpbm25vRkh


2. Draw the graph of the signum function write its domain

and range.

Watch Video Solution

3. 

Watch Video Solution

tan 4x =
4 tanx(1 − tan2 x)

1 − 6 tan2 x + tan4 x

4. If  Prove that 

Watch Video Solution

x + iy = √
a + ib

c + id
x2 + y2 = √

a2 + b2

c2 + d2

https://dl.doubtnut.com/l/_ALVPMbro03xS
https://dl.doubtnut.com/l/_6lG5YcvABdWV
https://dl.doubtnut.com/l/_BDyOyHTlwNGx


5. Convert the complex number  into polar

form.

Watch Video Solution

−
16

1 + i√3

6. Find .Hence evaluate 

.

Watch Video Solution

(a + b)
4

− (a − b)
4

(√3 + √2)
4

− (√3 − √2)
4

7. How many words, with or without meaning can be made

from the letters of the word MONDAY, assuming that no

letter is repeated, if. 

(i) 4 leters are used at a time, 

https://dl.doubtnut.com/l/_UvfRitW6aWJd
https://dl.doubtnut.com/l/_Zl6gVfBnUaRZ
https://dl.doubtnut.com/l/_oC5UEdn0Yy4A


(ii) all letters are used at a time 

(iii) all letters are used but first letter is a vowel ?

Watch Video Solution

8. Find the foci and eccentricity of ellipse 

Watch Video Solution

+ = 1
x2

16

y2

9

9. How many terms of AP - 6  are needed to

give the sum - 25 ?

Watch Video Solution

−11/2, − 5. . .

https://dl.doubtnut.com/l/_oC5UEdn0Yy4A
https://dl.doubtnut.com/l/_BpWaM6WBG2zz
https://dl.doubtnut.com/l/_KKt9rsB5ii85


10. In an A.P if  term is n and  term is m, where 

 find the  term .

Watch Video Solution

mth nth

m ≠ n, pth

11. Differentiate of  w.r.t. x from first principles

Watch Video Solution

sinx

12. Verify by the method of contradiction that  is

irrational .

Watch Video Solution

√2

https://dl.doubtnut.com/l/_oiSlEQfmmlu2
https://dl.doubtnut.com/l/_45wJbbXECQbt
https://dl.doubtnut.com/l/_1LtAUi49U10n


Part D

13. A committee of two persons is selected from two men

and two women.What is the probability that the committee

will have (i) no men (ii)two men

Watch Video Solution

14. If E and F are events such that

. Find 


P( not E and not F).

Watch Video Solution

P (E) = , P (F ) =  and P(E and F) =
1

4

1

2

1

8

https://dl.doubtnut.com/l/_mFHLyWT2FuFg
https://dl.doubtnut.com/l/_BSbxRJ3W9evF


1. Prove that  (x being in radians ) and

hence Show that  .

Watch Video Solution

lim
x→ 0

( ) = 1
sinx

x

lim (x → 0)( ) = 1
tanx

x

2. 

Watch Video Solution

12 + 22 + 32 + ............ + n2 = ∀n ∈ N.
n(n + 1)(2n + 1)

6

3. Define modulus function, draw the graph of it, write its

domain and range.

Watch Video Solution

https://dl.doubtnut.com/l/_jhfrt8c1sCj2
https://dl.doubtnut.com/l/_jdIRchEnm9YZ
https://dl.doubtnut.com/l/_Gn7IsnNdQUyL


4. A group consists of 4 girls and 7 boys. In how ways can a

team of 5 members be selected, if he team has. 

At least one boy and one girl?

Watch Video Solution

5. State and prove Bionomial theorem for any positive

integer n.

Watch Video Solution

6. If p is the length of perpendicular from origin to the line

whose intercepts on the axes are 'a' and 'b' then prove that

 .= +
1

p2

1

a2

1

b2

https://dl.doubtnut.com/l/_j7eiWzap9tzK
https://dl.doubtnut.com/l/_O7padWMQ92pj
https://dl.doubtnut.com/l/_2zvefKgt4k5G


Watch Video Solution

7. Prove that: 

Watch Video Solution

= cot 3x
cos 4x + cos 3x + cos 2x
sin 4x + sin 3x + sin 2x

8. Solve graphically

Watch Video Solution

2x + y ≥ 4, x + y ≤ 3, 2x − 3y ≤ 6x ≥ 0, y ≥ 0

9. Find the mean deviation about median for the following

data. 

Watch Video Solution

https://dl.doubtnut.com/l/_2zvefKgt4k5G
https://dl.doubtnut.com/l/_yyizEHzmoX5g
https://dl.doubtnut.com/l/_n446MVGsDXJc
https://dl.doubtnut.com/l/_tJKp1Ew81CWC


Part E

1. To

Watch Video Solution

cos(A + B) = cos x. cos y − sinx sin and hence find cos 75∘

2. Find the sum to n terms series

 . . . . .

Watch Video Solution

12 + (12 + 22)(12 + 22 + 32) +

https://dl.doubtnut.com/l/_tJKp1Ew81CWC
https://dl.doubtnut.com/l/_kzAmzFi9wwyC
https://dl.doubtnut.com/l/_vBDwok5K3VHD


3. Define ellipse and derive its equation in the form

 .

Watch Video Solution

+ = 1(a > b)
x2

a2

y2

b2

4. (b) Find the derivative of  with respect to x.

Watch Video Solution

x5 − cos x
sinx

https://dl.doubtnut.com/l/_WKWc9rCROvLu
https://dl.doubtnut.com/l/_dRsWPE1l6PKE

